

# Rayat Shikshan Sanstha's Chandraroop Dakle Jain College of Commerce, Shrirampur, Dist. Ahmednagar

Criterion 4 - Infrastructure and Learning Resources (100)

# **Key Indicator – 4.1 Physical Facilities**

# Qualitative Matrice( QLM) Index

|               | Index  |  |
|---------------|--|--|
| letric<br>No. | Question   | Supporting Documents   |
|               | Availability of adequate infrastructure and physical   | 1. Infrastructure of College   |
|               | facilities viz., classrooms, laboratories, ICT facilities, cultural activities, gymnasium, yoga centre etc. in the | 2. ICT Facilities  |
| 4.1.1         | institution  | 3. Classroom   |
|               | (Description in a maximum of 500 words)  | 4. yoga  |
|               | Describe the adequacy of infrastructure and physical facilities for teaching —learning, sports, cultural           | 5. gymnasium   |
|               | lasticities wors etc. and ICI facilities as per the  | 6. College campus Map  |
|               | minimum specified requirement by statutory bodies.  • Adequate description with supporting documents:              | 2000-01  |
|               | 20 marks   | Annual Control of the |
|               | Description and inadequacy in facility: below 15 marks (discretion power of committee)                             | 30.27  |
|               |  |  |



### Rayat Shikshan Sanstha's Chandraroop Dakle Jain College of Commerce, Shrirampur, Dist. Ahmednagar.

Availability of adequate infrastructure and physical facilities viz., classrooms, laboratories, ICT facilities, cultural activities, gymnasium, yoga centre etc. in the institution

(Description in a maximum of 500 words)

Describe the adequacy of infrastructure and physical facilities for teaching -learning, sports, cultural activities, yoga etc. and ICT facilities as per the minimum specified requirement by statutory bodies.

The college complex is located on 16 acres of land, with fully built up space of about 9529.6 sq. m. It offers all modern amenities required for all round development of the students. Facilities such as Library, Reading Hall, Ladies room, Girls' hostel, Seminar halls, Audio Visual library, Computers and Wi-Fi facility, Gymnasium, Playground, Staff quarters etc. are available in the college. Apart from degree and postgraduate courses in commerce, the college offers skill development courses, career-oriented courses, shortterm courses, and the college conducts computer courses. The college has separate section for Research conducting M. Phil and Ph.D. programmes. The college has a building with built up area of 2817.43 sq. m. with classrooms. The college has four solar on-grid plants and a wind energy plant generated and used by college. The excess power of solar energy returned to M.S.E.B. The college has a separate Administrative Building with 875.21 sq.m.area. Gymkhana (473.20 sq. m), Girls' Hostel (850.62 sq. m) with a separate Ladies Gym, Principal Residence (564.02 sq.m.), Staff Quarters for Teachers (1469.43 sq. m), Staff Quarter-1 for non-teaching (106.02 sq.m.), Staff Quarter-2 for nonteaching(178.28 sq.m.), Toilet blocks for non-teaching (9.52 sq.m), N.S.S. office, Two store rooms and Watchman Cabin etc. are available on the campus. A Separate Students' Development Board and Women empowerment cell building with (197.50 sq.m.). Ladies common room and eight separate toilet blocks for Girl students with Vending and disposal machine. The Medical counselling centre, canteen and first aid facility is also available in the college. Five drinking water Purifiers installed. The College provides separate parking facilities for staff, girls and boys students. The College has a separate Class room college building with built up area 1988.37sq.mt including elevator facility. The current student strength of the college is 1868. The college has adequate facilities like 14 classrooms with ICT and internet facilities for conducting two undergraduate and four PG Programs. The College has a separate section for B.C.A programme now the nomenclature has changed as BBA (CA) since 2008. Computer department has a Separate Laboratory with 73 computers and two printers for conducting practical for BBA (CA) and M.C.A programmes. There are five computer labs, a Commerce lab and 2 Seminar halls. The Classrooms and computer laboratory has been shared by undergraduate and post-graduate students. The college has a library adjacent to the main building with built up area 446.23 sq.m including reading room. The Library is with 49851 books, 21 Journals and fully automated. In addition, Research centre has separate departmental library to provide research related reference books and periodicals. B.B.A. (C.A) department, Earn and Learn section and Women Empowerment Cell is equipped with departmental library.

The institution has adequate facilities for sports, games (indoor, outdoor),gymnasium, yoga centre etc., and cultural activities

The College has separate building with 473.20 sq. m. for sports and cultural activities. It has separate office (29.02 sq.m), Gym (103.21 sq.m.), Gymkhana and multipurpose hall (196.46sq.m.), gymnasium indoor stage (46.48 sq.m), Multipurpose outdoor stage (71.44 sq.m), Store room-A (10.04 sq.m), Store room – B (6.51 sq.m.), Washroom for Gents and women (5.02 sq.m) respectively.

The college has its own spacious and well-maintained two-play grounds with 23400 sq m. (180 m x 130 m) and 1530 sq m. (51 m x 30 m) area respectively. The college has established indoor games facilities for Table tennis (in 1975), weight lifting (in 1987), a weight lifting platform (in 2012), Powerlifting, Boxing ring, wrestling mat and six stations multi gym respectively.

The college has adequate outdoor game facilities wise volleyball, Football, Kabbaddi, Kho-Kho (1972), 400 mtr. Standard Track, Cricket, Basketball and Callisthenic work out set, respectively. The college also has levering weighing machine with 300 kg. an electronic weighing machine with 200 kg., open area for Archery Ring. The multipurpose hall used for sports as well as cultural activities. With the help of the above facility, the college organized various intercollegiate and interzonal tournaments for men and women. The college has a separate fully equipped women's gym in the Ladies Hostel. Guidance sessions for yoga are conducted for staff and students in a multipurpose hall.

Number of classrooms and seminar halls with ICT- enabled facilities such as smart class, LMS, etc.

- 1. 14 Classroom
- 2. 2 Seminar Hall
- 3. Vriddhi LMS

### Rayat Shikshan Sanstha's Chandraroop Dakale Jain College of Commerce, Shrirampur, Dist. Ahmednagar

#### I. CAMPUS AREA

The College has 16 acres campus

#### II. Built-up Area

| S. N. | Name of Building             | Area in Sq. m |
|-------|------------------------------|---------------|
| 1     | Main Building - I            | 2817.43       |
| 2     | Main Building - II           | 1988.37       |
| 3     | Administrative Building      | 875.21        |
| 4     | Students' Development &      | 197.50        |
|       | Women's Empowerment Centre   |               |
| 5     | Gymkhana                     | 473.20        |
| 6     | Principal Residence          | 564.02        |
| 7     | Staff Quarter                | 1469.43       |
| 8     | Staff Quarter-1 Non-teaching | 106.02        |
| 9     | Staff Quarter-2 Non-teaching | 178.28        |
| 10    | Toilet Block Non-teaching    | 9.52          |
| 11    | Women Hostel                 | 850.62        |
|       | Total Built-up Area          | 9529.6        |

Principal
C.D.Jain College of Commerce,
Shrirampur

Julo

### **Building Measurements**

### 1. Main Building – I Ground Floor

| S. N. | Name of Rooms               | Hall | Size in Sq. m  | Sq. m   |
|-------|-----------------------------|------|----------------|---------|
|       |                             | No.  |                |         |
| 1     | IQAC                        | 1    | 05.70 x 04.50  | 25.65   |
| 2     | Examination Centre          | 2    | 09.91 x 06.61  | 65.51   |
| 3     | Class Room                  | 3    | 65.51 x 06.61  | 65.51   |
| 4     | Library Circulation counter |      | 18.01x 13.22   | 238.09  |
|       | Library cum Reading Hall    | 4    | 12.91x 06.61   | 85.34   |
|       | Library cum Reading Hall    |      | 13.51 x 9.09   | 122.80  |
| 8     | NCC                         | 8    | 04.805 x 06.61 | 32.75   |
| 9     | Placement Cell              | 9    | 04.805 x 06.61 | 32.75   |
| 10    | Class room                  | 10   | 65.51x 06.61   | 65.51   |
| 11    | Class room                  | 11   | 65.51x 06.61   | 65.51   |
| 12    | Computer Laboratory- 2      | 18   | 13.63x 09.09   | 123.89  |
| 13    | Research Centre             | 19   | 07.50 x 04.20  | 31.50   |
| 14    | Staff Common Room           | 20   | 07.50 x 04.20  | 31.50   |
|       | Toilet Block- 1             |      | 03.00 x 02.40  | 07.20   |
|       | Toilet Block- 2             |      | 11.91x 2.40    | 28.58   |
| 15    | Porch Area                  |      | 2.43 x 54.01   | 131.25  |
|       | Total (I)                   |      |                | 1153.34 |

#### 1. Main Building – First Floor

| S.N. | Name of Rooms                | Hall | Size in Sq. m | Sq. m   |
|------|------------------------------|------|---------------|---------|
|      |                              | No.  |               |         |
| 1    | Class Room                   | 5    | 12.91x 06.61  | 85.34   |
| 2    | Class Room                   | 6    | 09.91x 06.61  | 65.51   |
| 3    | Class Room                   | 7    | 09.91x 06.61  | 65.51   |
| 4    | Class room                   | 12   | 09.91x 06.61  | 65.51   |
| 5    | Class room                   | 13   | 09.91x 06.61  | 65.51   |
| 6    | Class Room                   | 14   | 09.91x 06.61  | 65.51   |
| 7    | Computer Laboratory- 3       | 21   | 09.91x 06.61  | 65.51   |
| 8    | Commerce Laboratory- 4       | 22   | 13.63x 09.09  | 123.89  |
| - 4  | Language Laboratory- 5       |      |               |         |
| 9    | Reading Hail                 |      | 6.61 x 13.34  | 88.22   |
| 10   | Knowledge Research<br>Centre |      | 6.61 x 10.59  | 69.99   |
| 11   | IBPS Centre                  |      | 6.61 x 12.10  | 79.98   |
| 12   | Store Room- 1                |      | 05.70 x 04.50 | 25.65   |
| 13   | Store Room- 2                |      | 05.70 x 04.50 | 25.65   |
| 14   | Toilet Block - 3             |      | 3.00 x 2.40   | 7.20    |
| 15   | Toilet Block - 4             |      | 11.91 x 02.40 | 28.58   |
| 16   | Porch Area                   | 4.5  | 2.43 x 92.91  | 225.78  |
|      | Total (II)                   |      |               | 1153.34 |

#### 1. Main Building - Second Floor

| S.N. | Name of Rooms            | No.     | Size in Sq. m | Sq. m  |
|------|--------------------------|---------|---------------|--------|
| 1    | Class Room               | 15      | 7.62 x 9.30   | 70.86  |
| 2    | Class Room               | 16      | 7.62 x 9.30   | 70.86  |
| 3    | Class Room               | 17      | 7.62 x 9.30   | 70.86  |
| 4    | Class room               | 23      | 13.51 x 09.09 | 122.80 |
| 5    | Class room               | 24      | 09.91x 06.61  | 65.51  |
| 6    | Porch area               |         | 2.43 x 45.20  | 109.86 |
|      | Total (III)              |         |               | 510.75 |
|      | Grand Total (I + II + II | 2817.43 |               |        |

### 2. Main Building - II Ground Floor

| S.N. | Name of Rooms       | Hall | Size Sq. m   | Sq. m  |
|------|---------------------|------|--------------|--------|
|      |                     | No.  |              |        |
| 1    | Staff Room          | 1    | 7.78 x 9.00  | 70.02  |
| 2    | Class Room          | 2    | 12.00 x 9.00 | 108    |
| 3    | Class Room          | 3.   | 12.00 x 9.00 | 108    |
| 4    | Class Room          | 4    | 12.00 x 9.00 | 108    |
| 5    | Ladies Toilet Block | -    | 3.00 x 9.00  | 27     |
| 6    | Porch and Steer     | -    | 3.30 x 9.00  | 29.7   |
| 7    | Lift                | -    | 1.80 x 1.60  | 2.88   |
| 8    | Wide Passage        | -    | 3.00 x 64.40 | 193.19 |
|      | Total               |      |              | 646.79 |

### 2. Main Building = II First Floor

| S.N. | Name of Rooms      | Hall No. | Size Sq. m    | Sq. m  |
|------|--------------------|----------|---------------|--------|
| 1    | Class Room         | 5        | 07.78 x 09.00 | 70.02  |
| 2    | Class Room         | 6        | 12.00 x 09.00 | 108    |
| 3    | Class Room         | 7        | 12.00 x 09.00 | 108    |
| 4    | Computer Lab       | 8        | 12.00 x 09.00 | 108    |
| 5    | Gents Toilet Block | -        | 03.00 x 09.00 | 27     |
| 6    | Porch and Steer    | -        | 03.30 x 09.00 | 29.7   |
| 7    | Lift               | -        | 01.80 x 01.60 | 2.88   |
| 8    | Wide Passage       | -        | 03.00 x 64.40 | 193.19 |
|      | Total              |          |               | 646.79 |

#### 2. Main Building - II Second Floor

| S.N. | Name of Rooms       | Hall No. | Size Sq. m    | Sq. m  |
|------|---------------------|----------|---------------|--------|
| 1    | Class Room          | 9        | 07.78 x 09.00 | 70.02  |
| 2    | Class Room          | 10       | 12.00 x 09.00 | 108    |
| 3    | Class Room          | 11       | 12.00 x 09.00 | 108    |
| 4    | Class Room          | 12       | 12.00 x 09.00 | 108    |
| 5    | Ladies Toilet Block |          | 03.00 x 09.00 | 27     |
| 6    | Porch and Steer     | . 15     | 03.30 x 09.00 | 29.7   |
| 7    | Lift                | -        | 01.80 x 01.60 | 2.88   |
| 8    | Wide Passage        | -        | 03.00 x 64.40 | 193.19 |
|      | Total               |          |               | 646.79 |

### 2. Main Building - II Tower

| S.N | Name of Rooms               | Hall No. | Size Sq. m   | Sq. m   |
|-----|-----------------------------|----------|--------------|---------|
| 1   | Tower                       | -        | 14.55 x 3.30 | 48.00   |
|     | Grand Total (I + +II + III) |          |              | 1988.37 |

### 3. Administrative Building - Ground Floor

| S. N. | Name of Rooms               | Size          | Sq. m    |
|-------|-----------------------------|---------------|----------|
| 1     | Principal Cabin             | 6.04 x 7.03   | 42.4612  |
| 2     | Anti-chamber                | 2.74 x3.38    | 9.2612   |
| 3     | Pantry                      | 3.75 x 3.38   | 12.675   |
| 4     | Toilet                      | 1.50 x 1.72   | 2.58     |
| 5     | Record Room                 | 3.52 x 3.38   | 11.8976  |
| 6     | Waiting Lobby               | 6.35 x 3.17   | 20.1295  |
| 7     | UPS Room                    | 3.52 x3.90    | 13.728   |
| 8     | Reception                   | 4.45 x 3.90   | 17.355   |
| 9     | Office Superintendent Cabin | 3.00 x 3.51   | 10.53    |
| 10    | Admin. Area                 | 12.07 x 10.54 | 127.2178 |
| 11    | Porch Area                  | 4.64 x 3.50   | 16.24    |
|       | Totař                       |               | 284.07   |

### 3. Administrative Building - First Floor

| S.N. | Name of Rooms | Size Sq. m    | Sq. m    |
|------|---------------|---------------|----------|
| 1    | Meeting Room  | 6.04 x 8.67   | 52.3668  |
| 2    | Pantry        | 3.49 x 1.72   | 6.0028   |
| 3    | Toilet        | 2.40 x 1.72   | 4.128    |
| 4    | Ladies Toilet | 1.69 x 1.72   | 2.9068   |
| 5    | Gents Toilet  | 1.69 x 1.72   | 2.9068   |
| 6    | Porch         | 3.52 x 4.77   | 16.7904  |
| 7    | Steers        | 3.52 x 3.90   | 16.7904  |
| 8    | Seminar Hall  | 15.07 x 10.54 | 158.8378 |
| 9    |               |               | 260.72   |
| 10   | Total         |               | 284.07   |

### 3. Administrative Building - Second Floor

| S.N. | Name of Rooms              | Size Sq. m    | Sq. m    |
|------|----------------------------|---------------|----------|
| 1    | Innovation, Incubation and | 6.04 x8.67    | 52.3668  |
|      | Entrepreneurship           |               |          |
|      | Development Centre.        |               |          |
| 2    | Head IIEDC                 | 3.49 x 1.72   | 6.0028   |
| 3    | Office IIEDC               | 2.40 x 1.72   | 4.128    |
| 4    | Ladies Toilet              | 1.69 x 1.72   | 2.9068   |
| 5    | Gents Toilet               | 1.69 x 1.72   | 2.9068   |
| 6    | Porch                      | 8.42 x 4.77   | 40.1404  |
| 7    | Steers                     | 3.52 x 3.90   | 16.7904  |
| 8    | Seminar Hall               | 15.07 x 10.54 | 158.8378 |
|      | Total                      | N .           | 284.07   |

### 3. Administrative Building Tower

| S.N. | Name of Rooms                   | No. | Size Sq. m | Sq. m  |
|------|---------------------------------|-----|------------|--------|
| 1    | Tower                           |     |            | 23     |
|      | Grand Total (I + II + III + IV) |     |            | 875.21 |

# 4. Students Development & Women Empowerment Centre

| S.N. | Name of Rooms                        | No | Size Sq. m   | Sq. m  |
|------|--------------------------------------|----|--------------|--------|
| 1    | Students Development Centre - Office | 1  | 6.10 x 4.50  | 27.45  |
|      | Boys Health Centre                   |    | 4.60 x 3.00  | 13.80  |
| 2    | Skill Development Centre-            | 2  | 9.15 x 7.35  | 62.25  |
|      | Beauty Parlor                        |    |              |        |
| 3    | Women Empower Centre                 | 3  | 4.60 x 3.10  | 14.26  |
| 4    | Girls Health Centre                  |    | 2.90 x 4.60  | 13.34  |
| 5    | Toilet Block                         |    | 4.60 x 3.10  | 14.26  |
| 6    | Porch Area                           |    | 3.04 x 17.15 | 52.14  |
|      | Total Area                           |    |              | 197.50 |

## 5. Physical Education Centre

| S. N. | Name of Rooms                    | Size         | Sq. m  |
|-------|----------------------------------|--------------|--------|
| 1     | Gymkhana Office                  | 7.93 x 3.66  | 29.02  |
| 2     | Gymnasium                        | 11.28 x 9.15 | 103.21 |
| 3     | Gymkhana Multipurpose hall       | 14.64 x 3.42 | 196.46 |
| 4     | Multipurpose Hall Stage (Indoor) | 7.62 x 6.10  | 46.48  |
| 5     | Gymnasium Store Outdoor          | 9.76 x 7.32  | 71.44  |
| 6     | Store Room- A                    | 3.66 x 2.74  | 10.04  |
| 7     | Store Room- B                    | 3.05 x 2.13  | 6.51   |
| 8     | Washroom                         | 3.66 x 2.74  | 10.04  |
|       | Total Area                       |              | 473.20 |

#### 6. Principal Bungalow

| Sr. No | Name of Rooms | Area sq. m   | Sq. m  |
|--------|---------------|--------------|--------|
| 1      | Ground Floor  | 38.44 x 7.93 | 304.88 |
| 2      | First Floor   | 32.67 x 7.93 | 259.14 |
|        | Grand Total   |              | 564.02 |

Principal
C.D.Jain College of Commerce,
Shrirampur

### 7. UGC Staff Quarter

| S. N. | Name of<br>Rooms | Hall<br>No. | Area sq. m   | Sq. m   |
|-------|------------------|-------------|--------------|---------|
| I     | Ground Floor     | 110.        |              |         |
|       | Room             | 1           | 7.32 x 24.90 | 182.32  |
|       | Room             | 2           | 7.32 x 24.90 | 182.32  |
| II    | First Floor      |             |              |         |
|       | Room             | 3           | 7.32 x 24.90 | 182.32  |
|       | Room             | 4           | 7.32 x 24.90 | 182.32  |
| III   | Second Floor     |             |              |         |
|       | Room             | 5           | 7.32 x 24.90 | 182.32  |
|       | Room             | 6           | 7.32 x 24.90 | 182.32  |
| IV    | Third Floor      |             |              |         |
|       | Room             | 7           | 7.32 x 24.90 | 182.32  |
|       | Room             | 8           | 7.32 x 24.90 | 182.32  |
| V     | Tower            |             | 4.15 x 2.62  | 10.87   |
|       | Grand Total      |             |              | 1469.43 |

### 8. Staff Quarter Non-Teaching

| 1 | Staff Quarter-1 Non-teaching | 106.02 |
|---|------------------------------|--------|
| 2 | Staff Quarter-2 Non-teaching | 178.28 |
| 3 | Toilet Block Non-teaching    | 9.52   |
|   | Total                        | 293.82 |

# 9. Ladies Hostel- Ground Floor

| S. N. | Name of Rooms | Hall No. | Area sq.m    | Sq. m  |
|-------|---------------|----------|--------------|--------|
| 1     | Rector Room   | -        | 07.30 x 5.55 | 40.52  |
| 2     | Room          | 1        | 4.57 x 3.65  | 16.68  |
| 3     | Room          | 2        | 4.57 x 3.65  | 16.68  |
| 4     | Room          | 3        | 4.57 x 3.65  | 16.68  |
| 5     | Dining Hall   | 4        | 5.80 x 7.47  | 43.33  |
| 6     | Kitchen       | 5        | 4.57 x 3.65  | 16.68  |
| 7     | Room          | 6        | 4.57 x 3.65  | 16.68  |
| 8     | Room          | 7        | 4.57 x 3.65  | 16.68  |
| 9     | Wash room and | -        | 5.80 x 7.47  | 43.33  |
|       | Changing Room |          |              |        |
| 10    | Room          | 8        | 4.57 x 3.65  | 16.68  |
| 11    | Room          | 9        | 4.57 x 3.65  | 16.68  |
| 12    | Room          | 10       | 4.57 x 3.65  | 16.68  |
| 13    | Room          | 11       | 4.57 x 3.65  | 16.68  |
| 14    | Room          | 12       | 4.57 x 3.65  | 16.68  |
| 15    | Room          | 13       | 4.57 x 3.65  | 16.68  |
|       | Porch Area    |          | 1.20 x 81.64 | 97.97  |
|       | Total         |          |              | 425.31 |



Principal
C.D.Jain College of Commerce,
Shrirampur

### 9. Ladies Hostel-First Floor

| . N. | Name of Rooms       | Hall | Area sq. m   | Sq. m  |
|------|---------------------|------|--------------|--------|
|      |                     | No.  |              |        |
| 1    | Reading Hall        | 14   | 07.30 x 5.55 | 40.52  |
| 2    | Room                | 15   | 4.57 x 3.65  | 16.68  |
|      | Room                | 16   | 4.57 x 3.65  | 16.68  |
| 3    | Room                | 17   | 4.57 x 3.65  | 16.68  |
| 4    | Room                | 18   | 5.80 x 7.47  | 43.33  |
| 5    | Room                | 19   | 4.57 x 3.65  | 16.68  |
| 6    | Room                | 20   | 4.57 x 3.65  | 16.68  |
| 7    | Room                | 21   | 4.57 x 3.65  | 16.68  |
| 8    | Wash room and       | -    | 5.80 x 7.47  | 43.33  |
|      | Changing Room       |      |              |        |
| 9    | Room                | 22   | 4.57 x 3.65  | 16.68  |
| 10   | Room                | 23   | 4.57 x 3.65  | 16.68  |
| 11   | Room                | 24   | 4.57 x 3.65  | 16.68  |
| 12   | Gymnasium           | 25   | 4.57 x 3.65  | 33.36  |
| 13   |                     | 26   | 4.57 x 3.65  | 1.60   |
| 14   | Room                | 27   | 4.57 x 3.65  | 16.68  |
|      | Porch Area          |      | 1.20 x 81.64 | 97.97  |
|      | Total               |      |              | 425.31 |
|      | Grand Total (I + II | ()   |              | 850.62 |



Julo

Principal
C.D.Jain College of Commerce,
Shrirampur

#### **Toilet Block**

| S. N. | Building                 | Toilet Block No. |
|-------|--------------------------|------------------|
| 1     | Main Building - I        | Ladies -1        |
|       |                          | Gents -1         |
|       |                          | Ladies-2         |
|       |                          | Ladies-3         |
|       |                          | Gents -2         |
|       |                          | Gents -3         |
|       |                          | Staff-1          |
| 2     | Main Building - II       | Ladies-4         |
|       |                          | Gents-4          |
|       |                          | Ladies-5         |
| 3     | Administration Building  | Ladies -6        |
|       |                          | Gents-5          |
| 4     | Physical Education Dept. | Ladies-7         |
|       |                          | Gents-6          |
| 5     | Women Empower Centre     | Ladies -8        |



Principal
C.D. Jain College of Commerce,
Shrirampur